## RESOLUTION NO. 69-93 CITY OF CENTERVILLE, OHIO

SPONSORED BY	COUNCILMEMBER	3211-	Beels	ON THE
18th	DAY OF	October		, 1993.

A RESOLUTION ACCEPTING THE BID OF THE DYNO CONSTRUCTION COMPANY FOR THE RIDGEWAY/HAMPTON RELIEF STORM SEWER PROJECT IN THE CITY OF CENTERVILLE AND TO AUTHORIZE THE CITY MANAGER TO ENTER INTO A CONTRACT IN CONNECTION THEREWITH.

WHEREAS, the City advertised for bidders for the Ridgeway/Hampton Relief Storm Sewer Project in the City of Centerville, pursuant to specifications prepared by the City; and

WHEREAS, the Dyno Construction Company was the lowest and best bidder.

NOW, THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:

SECTION 1. That the bid submitted by the Dyno Construction Company, marked Exhibit "A", attached hereto and made a part hereof, in the amount of \$249,527.90, is hereby accepted, and the City Manager is hereby authorized and directed to enter into any necessary contract to evidence acceptance of said bid and to make payment pursuant thereto.

SECTION 2. That the City Manager is hereby authorized to expend up to \$265,000.00 in accordance with unit prices quoted in the bid submitted by the Dyno Construction Company for additional work as deemed necessary.

SECTION 3. This Resolution shall become effective at the earliest date allowed by law.

PASSED this 18th day of October, 1993.

Sharley, f. Hends
Mayor of the City of Centerville, Ohio

Clerk of the Council of the City of Centerville, Ohio

## CERTIFICATE

The undersigned, Clerk of the Council of the City of Centerville, Ohio, hereby certifies that the foregoing is a true and correct copy of Resolution Number 69-93, passed by the Council of the City of Centerville, Ohio, on the 18th day of 6 1993.

Clerk of Council

Approved as to form, consistency
with the Charter and Constitutional Provisions.

Department of Law
Robert N. Farquhar
Municipal Attorney

## RIDGEWAY/HAMPTON RELIEF STORM SEWER SCHEDULE OF ITEMS AND PRICES

Item	Quantity	Units	Unit Price	Cos
Item	Quantity	Units	Unit Price	Co

1 Storm Sewers	NOTE: PIP	E LENGTHS	TO BE	REVISED	
				<b>5</b> 0 10	# 1110 80
12" Diameter		33	LF	<u>50.60</u>	1,669.80
15" Diameter		57	LF	52.20	2,975.40
18" Diameter		226	LF	50.20	11,345.20
20" Dia. AWWA	C-301	84	LF	100.80	8,467.20
21" Diameter		131	LF	5320	6,969.20
24" Diameter		194	LF	55.20	10,708.80
27" Diameter		55	LF	57.60	3,168.00
30" Diameter		457	LF	66.50	30,390.50
36" Diameter		990	LF	00.18	80,190.00
24" x 30" Elliptica	1	138	LF	82.10	11, 329.80
29" x 45" Elliptica	.1	112	LF	9500	10,640.00
Rock Excavation		600	CY	30.00	18,000.00
2 Drainage Structu	res			ıl.	
4' Dia. Manho	le	1	Each	1,310.00	1,310.00
5' Dia. Manho	le	7	Each	1,41000	9,870.00
6' Dia. Manho	le	3	Each	1,638.00	4,914.00
8' Dia. Manho	le	1	Each	3080.00	3,080.00
8' Dia. Manho as per plan	le,	1	Each	3470.00	3,470.00
ODOT Type 2-2	-в св	7	Each	628.00	4,396.00
ODOT Type 2-3	CE	5	Each	900.00	4,500.00
ODOT Type 3 C	В	3	Each	1,359.00	4,077.00
ODOT Type HW- for 12" pipe	4B	1	Each	600,00	600.00

## RIDGEWAY/HAMPTON RELIEF STORM SEWER SCHEDULE OF ITEMS AND PRICES

	-				
Item		Quantity Units Unit Price Cost			
3 Wat	er System Modifications	\$ - 0.450 \$- 0.450			
	Lower Ex. 6" Water Main near Station 14+10, as per plan including all material fittings, etc. Bid price includes items necessary for testing & purification.	1 Each \$5,914° \$5,914°			
	Lower Ex. 6" Water Main near Station 18+25, as per plan including all material fittings, etc. Bid price includes items necessary for testing & purification.	1 Each 5,554 5 5,554 9			
	Relocate Ex Fire Hyd	1 Each 1,573 00 1,573 00 8 Each 552 4416.00			
	Lower Ex. Water Services including type "K" copper & necessary fittings.	8 Each <u>552</u> 4,416.20			
Total,	for the sum of TWO-NU HUNDRED -TWENTY-S	EVEN - 700 Dollars (\$249,527.90)			
The fu	ll names and address of all al are as follows:	persons and parties interested in the foregoing	3		
BIDDER	DYNO CONSTRUCTION	GADDRESS 2734 ARMSTRONG LANE DAY	70~0416		
BIDDER		ADDRESS OF STEVETION C.			
	(Bidder's Si	mature) 27.34 ARMSTRONG LONG			
Address DAYTON, OHID 45414					
By William () Dandio					
Its President					

NOTE: The Bidder will sign his bid on the line indicated above; if it be a partnership, the firm name will be signed, followed by the signature of the partner signing, his own name to be signed on the line beginning with the word "By"; if a corporation, the corporate name will be signed, followed by the signature of the officer signing same, his name to appear on the line beginning with the word "By", same to be followed by his official title on the line beginning with the word "Its".